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Before answering the qumtiuns&%%dnmm should ensure that they
have been supplied the @?‘f and complete question paper. No
complaint in this rrgnrd%}dl be entertained after examination.
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Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
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1. Answer the following : 2x8=18
frfefer @ gat df
(a) Explain any fwe functions of Financial Manager.
R wiws & B @ &3 @ a-ta b
(b) ‘Modemn approach of Finance function.
R wd A smgfys R

(c} What do you mean by management of working

capital ?
Fdfe it 3 weg & o F g B 7
(d} Explain the motives for holding cash.

%z @A 3 IR H T

(e) Define cost of capital.
&M A s A qRw A
(f) What is Capitalisation ?
oo = & ?
() What is Leverage ?
e 7 ¥ ?

(h) What is an indifference point in the EBIT-EI™

analysis 7
EBIT-EPS Rt & guraen fag @ ein B

61552-6400-(P-T){OQ-9)(23) (2)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

UNIT — i

Tt - |

2. What do you mean by Finance function ? Point out the
objectives of financial Management. 16
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3. Define financial management &Qd explain its nature

and scope. _ QK\Q 16
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4. Cost Sheet of a company provides the following data .

16
Cost per unit (T)
Raw material 110
Direct wages 40
Overheads 30
Total cost 180
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Profit 20

Selling price 200)
The fnlluwing further particulars are available

Raw materials are in stock on an average for one
month. Materials are in process on an average for half
month. Finished goods are in stock on an average for

‘.I% months.

Credit allowed by supplier is one month and credit
allowed to debtors two months. Time lag in payment

of wages is half month and overheads one month.

One-fourth of the output is sold against cash. Cash
balance expected to maintained is T 2,00,000.

You are required to prepare a statement showing the
working capital needed to finance a level of activity of
60,000 units of production. It may be assumed that
production is carried on evenly throughout the vear,

wages and overheads accrue similarly.
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- ) 6. Write notes on : 5+5+6
Le2 200
et o T fefan -
Freafafaa afafrag md ggeay ¥ (1) Cost of Debt Capital
Fl @l ohwaw uw we 3 B W d ed B 1 gl A A
mg;m ﬂﬁ’?:-n g 1wl ¥ 3 e e é HT7 (ii) Cost of Preference Share Capital
TE< B Filk;
v & w@its siw G & arma
Igffwtalt z os T @ %a;., ) et @t A ooz (iii) Weighted Average Cost of Capital
H W@ &HFa ¥ megh B ? 3 wre aar Iufraadt &N # wia e arma
F YA ? oF 9 Eﬁ@% B https://www.mdustudy.com
N 7. What is Capitalisation ? : -
- a SUR, € BT 2,00,000 2 api tion ? What are the consequences of
-3 & : N over and under-capitalisation ? 16
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8. at is Net Operatjng Income Approach of Capital
. Discuss the techniques of accelerating cash collection Structure ? Explain it with a diagram and an
and slowing down the disbursements of cash. 16 appropriate example, 16
dmg quE & 1 W dm FA aw e r K ofa |} @mﬁﬂammﬁmww%?gﬁw
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615526400-(P-7Q-9)23)  (5) e 61552.6400-P-7)(Q-9)(23)  (6)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

9. Using the fu]lnwing information, find the price of a

share and value of the firm using Gordon's model : 16

Frefofe getell &l & g, M7 Mew 3 arEn
UL CEC R R CER (R

Earning per share = 7 12
Equity capitalization rate = 20%
Internal rate of return = 16% \Q&Q
Retention ratio = 75% §Z§

NS

N
Number of shares ougﬁndmg =1,00,000
N
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